Puissances et Racines (G)

1331

10 000

1296

V400

V361

222

18°

242

Trouvez la racine ou calculez I'exposant.

Y456 976 =

20 736 =

324 389 =

23% =

28% =

31 =

15% =

15% =

Y625

Y456 976

35832

\25

V196

27*

11°

257

10*

19*
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Puissances et Racines (G) Solutions

1331

10 000

1296

V400

V361

242

Trouvez la racine ou calculez I'exposant.

= 484

= 5832

=576

Y456 976 =26

V20736 =12

24389 =29

J1 =1

V576 =24
23% =12167
287 =784
31* =923521
152 =225
15 =50625

Y625

Y456 976

35832

\25

V196

11°

257

19*

= 531441

= 1331

=625

= 10000

= 130321
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